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III Semester B.Com. (NEP) Degree Examination,
December/January - 2024-25
BUSINESS STATISTICS (DSC)
(Regular/Repeater)

Time : 2 Hours Maximum Marks : 60
Instructions to Candidates:
1)  All Sections are compulsory.
WTY, WYNNTS T@ 0.
2) Simple calculator is allowed.
RO NagCo0s, TOdRNTOS BR0RNI8 JE.
3) Question Ne. 11 case study is compulsory.
@,g "oas, 11 T,3T0 53, 030T F@ CRWINT.

SECTION - A

RPN - @
Answer any Five of the following. (5%2=10)

Wyemn 0T, g oRD.
1. _a)y—What is AM ?
T om0 eosden 2
b) Define histogram.
GoRR 6T, WI Y, 99,809, 2R0.
¢) What do you mean by quartile deviation ?
BATF WBOT 0BT 0T SPDToND ?
d) State the meaning of permutation.
3,m003RemB0N WFE 3PR0.
e)~ What is scatter diagram ?
WEOT T 20T ?
f)  Define base period.
SETD =W 39, 839, JA0.

/g)//lf X=4,N=7, find ¥x.

X=4,N=7, find ¥ x s0m@&&BOWD.

-

[P.T.O.
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SECTION - B
NPen - W
Answer any Three of the following. (3x5=15)

Weras WwWTE, e OA0.
2. Define skewness ? Explain types of skewness.
8,8 339,809,R0. [YIIT T,TONTT) WBORO.
_3-~Find mean and mode for the following data.
33 3505 TER03T FTRO WBY WBILT ToBIEEOWD.

Class: 0-9 10-19 20-29 30-39 40-49
WMRF 080

Frequency: 5 10 15 11 7
s

_—4~" Compute M.D from median
RTIRO é}w’eﬁoﬁa&oﬁ RO, 0BT OO &HEOWD.

Class: 0-10 10-20 20-30 30-40 40-50 50-60
WMIFOBT:

Frequency: 6 B 8 15 7 6
SERCE

5.  An urn contains 8 white and 3 red balls. If two balls are drawn at random, find the
probablility that (i) both are white (ii) both are red.

20T [T 8 WY TB 3 FoP) WOBIMNTIY WENRORT. odrat%aiﬁmﬁ T
WOTINYR), BrT roen (i) «0@ 29 (i) H0@> Fo), BOBN VAT TSR
RoPRAORBOTY, FoTEELECUD.

_A4~" From the following data calculate index number by simple aggregate method.
3PF0RE TIW0BL0T ATY B3 NTORACT mwgos m’ogjéojaa’gt FOBY &GOWO.

Commodity: A B C D
R0BO:

Price in 1980 (Rs.) = 162 256 257 132
1980 © @3

Price in 1981 (Rs.) 171 164 189 145

1981 © ¥
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SECTION - C
gnR - A
Answer any Two of the following. (2x10=20)
s 0BEE, U3 0R0. _ :
’ /?r"”"Consider the following data, calculate mean and median
5 3P0R® TE903 TOMEIND. FOIWO 0B FILH), 08 TOBZBOWD.

Class: 0-10 10-20 20-30 30-40 40-50 50-60  60-70
WNRFOST:

Frequency: 8 12 10 8 3 2 '
&%,8:

8. Calculate Laspeyre's and Paasche's indices for the following data.
B 39507 TER03E U, A0NT WY W,ITRIT A, 08 5590 WRAD.

Base year Current year
RO TR ©,B08 TRF
Commodity Price Quantity Price Quantity
BOBD ol T,B/RD B W, WIED
A 6.5 500 10.8 560
B 2.8 124 29 148
C 4.7 69 8.2 78
D 10.9 38 13.4 24
E 8.6 49 10.8 27

=g Compute Karl Pearson's co-efficient of correlater, between. advertising expenses and
sales from the following data.

3950R [T 03000 POF WORTATT FTROWCT TOFROTHRY, 10T ﬁagd BN
BRTLT WG, VTB FOWOHHOT e?agwad BREO.

Ads. exps (Rs.) : 39 65 62 90 82 75 25 98 36

(Rs. in lakhs)

20 & TR dzsu (Br.)

Sales (Rs.) : 47 53 58 86 62 68 60 91 51
(Rs. in lakhs)

wRTI  (OR.)

P.T.0.
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10.  Four cards are drawn at random from a pack of 52 cards. Find the probability that:
LOTD VAL WFIOT IRTRFWN [y HENYRY, IRobweonD. F¥Een
STSIATALY mg %OCéD & C3000.
a) Two are King's and two are aces.
RO T W OB VTSNS,
b) All are Diamonds
DY TEOOT,  SNTHBH,

SECTION - D
apon - &
Compulsory question (Case Study) (1x15=15)

T80 ©pc0T (T oD %3)
,:—"’M/ “For two ﬁrms A and B the followmg information is available.
A @2 B & :Srie;’)ﬁ’ ROWORATIOZ, 3PTOB Rk WY HTOEE.
Firm-A Flrm B

No. of wages earners 550 650
30 BECINTHT [os,

Average monthly wages ('00 Rs.) 50 45

done oD 39 ('00 Rs.)

S.D of wages ('00 Rs.) Joo J120

3RA0 JeE B (00 Rs.)
Answer the following questions with justification:
TITOR TN AuLTTLD QeRTY GUZORD.
a)  Which firm A or B pays larger amount as monthly wages ?
ciwes ACA A wpme B ﬁzsua RRZT 8RO donen e 9
b) In which firm A or B, is greater vanablhty in individual wages 7
CIR®m ACA A w5 B abd #0388 gedodn e, O?e T, WHTOBWRRRTTL
c) What are “the measures of
1)  average Monthly wages
ii) S.D in the distribution of individuals wages of all workers in the two firms
taken together?
DT ;ﬂomlﬁ%f 3OIMTT Bed TORSRTIN B3 PF0RE IR 3,=one Wi $9R0.
i) Roomd &ong Epd
i) Fodds 3ed JHPTHoD DT LB (S.D)




